6.5 Slope-Point Form of the Equation for a Linear Function - Part2

Example 1: Write the equation of the line that passes through the point (1, -1) and is:
a) Parellel fo y = 2 x—5 (write answer in slope - intercept form)
AN 3 A~
l | Ls we don't khow the y-
2D B infercept so we'll
m=2% point (1,=1) start with
3 x) > point - slope form.
]
Y
Y-y, = MLX=¥) 3
2_ y = Ax - .2_‘. - l =
lj—(—l) = E(X-') 3 3 x 3
y+l= Ex-2
3 3
— -1
b) Perpendicular fo y = %x—S (write answer in slope - intercept form)

L’ slope IS negach‘w. mcl'procal

m=% 5 mp=-3 use C1,=1) like
3 Y2 in paﬂ (a)
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y=-3x+3 - 1"
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P pont (3,0)

Example 2: Find the equation of the line which has an x-intercept of 3, and is: ] T
a) Parellel fo y =3x+5 (write answer in slope - intercept form) X y'
L same slope
m= 3

b) Perpendicular fo y=3x+35 (write answer in slope - intfercept form)
L slope mus+ be negcch'w. mcnprocal

m=32 — my = vse (3,0) from

-1
| 3

ﬁ_\' part (a)
y-o0 = ‘-é-(x-s)
y = ’_'B.X '3("—%)
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